1)(x2+3x):éx+6)
X(X43)t+alx +3)
(X+2)(Xx+2)

3) ke +3)-bx-15)

X(x+3)-S(X1+3)
} (X=$)x +7)

5) (2x° -x} fox + 5)
X3 (2% -1) - 5 (2x-1)
(X3-5) (2%-1)

47(,&4;; s )

X (X240)+ 1(x2 4 44)
(X+1) (x*+u)
$9)(15x° + 5xuf3x + 1)

SR (2K+]) + 1(3X+])
(SR24) (2% + 1)

11)(9¢ + 3x2)h {5x + 5 )
3R (2K +1) + 5( 2% + /)
( 3x+i)(3x2+g)

:é’! ) 6 T

13) @x’ 12x),‘

Factoring By Grouping Worksheet

2) (x2+5x)€x +20)
X(X+5) t4(X +5)

(X+4) (x +€)

4) 6<z+2x)+(5x+10)
X(X+2)4 5 (X +2)
EXEE51) (x +2.)

6) (x3 + 10x2) fx + 50 )
X2 (X +)0) +6 (X T10)
(x+10) (X% +5)

8)(2x3 + x2)+(8x +4 )
X2(2X+H) + 4(3x+])
(X +) (R34 4)

Bal <

10)(20x3 + 12x§+ é5x+ 15 )
Hx2(SX+3) + 5(5x+3)
(58+3) (4x2+5)

12)(6x'+ 10 fix+5 )
AXA(3X45) 4




